
Way Two Cool Algebra  Expressions – Logarithms 
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A) Evaluate each Logarithm Expression without a calculator. 

1 49log7
 2 27log3

 3 
10

1
log10  4 

16

1
log2  

 
 

 
 

 
 

 
 

5
 

16log
4

1

 
6

 
8log

2

1

 
7

 
1log

2

7

 
8

 
6log

6

1

 
 

 
 

 
 

 
 

 

9
 100

1
log

 

10
 

1log14  11
 

10000log
 12

 
81log

3

1

 
 

 

B) Evaluate each Logarithm Expression without a calculator. 
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C) Evaluate each Logarithm Expression without a calculator. 
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D) Simplify each Logarithmic expression without a calculator.  Evaluate each log individually then add. 
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E) Simplify each Logarithmic expression without a calculator. 
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F) Use the Properties to simplify each Logarithmic expression. 
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